                         PROGRESS TEST-Α’ ΛΥΚΕΙΟΥ
Choose the correct item.

1. A: So who…………..the princess at the end of the story?

B: The brave prince.

A is saving          B saves          C has saved

2. Bob always adds………..much salt to his food.
A enough           B very           C too

3. Mark…………..some chocolate chip cookies. Don’t they smell great?

A had just baked          B has just baked           C just baked

4. The green dress………….Marie perfectly.

A fits           B fitting            C is fitting

5. My best friend,…………….parents come from Mexico, is a film director.

A whom      B whose             C which

6. Our planet…………hotter and hotter because of global warming.

A getting           B gets          C is getting

7. I have got three pairs of shoes, none of………….are black.

A which           B  all            C whom

8. Tommy…………his toys on the stairs; he’s very naughty.

A is always leaving            B had always left        C has always left

9. Although they…………to Spain twice this year, they are going again next month.

A went           B have been           C have gone

10. He………a lot more now than he did when he was in his twenties.

A is weighing      B has weighed           C weighs

11. ………..you manage to finish all your work last night?

A Have            B Did          C Had

12. By the time she had finished doing her homework, it………dark outside.

A was           B was being           C is

13. My grandparents have………….living in the same neighbourhood for fifty years.

A being            B be            C been

14. Angela………….a very good job and earns a lot of money.

A has got          B is having           C has had

15. We……….plans for our trip to Australia when you called last night.

A had made           B were making          C made

16. The children………..flowers for two hours before they realized the time.
A pick          B had been picking         C were picking

17. Is this the man………asked you where you live?
A which          B whom          C who

18. How long ago did she………work for that company?

A used to       B use          C use to

19. Was the water warm……..for the children to swim in?

A too            B very         C enough

20. As soon as he………..the room, he realized what was going on.

A has entered          B was entering          C entered
